12.00

f6x .44 [1

2x 9.51

\\@

D o O 4 D g
EAR R AR R

N
ﬁ}

KIT INCLUDES:

ANTIOXIDANT JOINT
COMPOUND

1—COPPER GROUND BAR WITH BRACKETS AND INSULATORS
6—#6 COMPRESSION LUGS
3—#2 COMPRESSION LUGS
1-2/0 COMPRESSION LUG
12—1/4"=20 x 3/4” SS HEX HEAD CAP SCREW
12—1/4"-20 SS LOCK WASHER
12—1/4"=20 SS HEX NUT

6—3/8"—-16 x 17 SS HEX HEAD CAP SCREW
6—3/8"-16 SS LOCK WASHER
6—3/8"—16 SS HEX NUT

*k NOTICE *+*
THIS DOCUMENT CONTAINS CONFIDENTIAL AND/OR
PROPRIETARY INFORMATION INTENDED FOR USE
ONLY BY THE INDIVIDUAL(S) SPECIFIED HEREIN
AND ONLY FOR THE PURPOSE(S) PROVIDED.
NEITHER THIS DOCUMENT, NOR ANY INFORMATION

CONTAINED HEREIN, MAY BE COPIED, DISTRIBUTED,

DISCLOSED TO ANY THIRD PARTY OR USED IN

ANY MANNER OTHER THAN FOR WHICH IT HAS

BEEN PROVIDED, WITHOUT THE PRIOR WRITTEN
CONSENT OF ORTRONICS, INC.

& ORTRONICS

TITLE

NEW LONDON, CT 06320
(860) 445— 3500

Y:
JIM LUCY

TELECOMMUNICATIONS GROUND BAR KIT

12" W x 2" H

01/1 1/08 SIZE |CAD FILE

PART NUMBER REV
B evesaue 01/30,/08 A GBZXWZTGBK\TC OR-GB2X12TGBKIT 00
APP.BY: MLEM 01/30/08 SCALE NONE |§/%E /08 |SHEET ,‘ OF ,‘




